maximize z
maximize z=- 6x, +6X, subject to 2%, + 3%, + 5 =6
subjectto  2x, +3X, £6 - 5%, +9x, =15
- 5x +9x, =15 - 6x +3x, -5 =3
- 6x +3x,3 3 Z+6X%, - 6X, =0
X]_)XZ 3 0 xl’x27sl7833 0
z x1 X2 sl s3
0 2 3 1 0 6
0 -5 9 0 0 15
0 -6 3 0 -1 3
z 1 6 -6 0 0 0
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maximize z=- 6x, +6X, ®
subjectto  2x, +3X,£6 ¢
®

- 5x, +9x, =15 ‘
- 6x +3%,3 3
X% 20
1 1

maximize
subject to 2%, +3X, +S =6 23
- 5x, +9x, =15 |
-6x+3x, -s5=3 to.ts
X1, X5,8,S5% 0 maximize
subject to 2%, +3X, +S =6
- 5% + 9%, +t, =15 sitots
-6x,+3x, -s +t;=3
X, %5, 8,85, 1,153 0 maximize z = -t -t
subject to 2%, +3X, +S =6
- 5% +9X, +t, =15

-6x,+3x, -s +t;,=3
)(17)(2751753,7t2"[33 0



maximize z

( 2

subject to 2% +3%, +S =6
- 6%, + 3%, -5 +t3=3
z +t,+t; =0
X, X5,8;,83,1,,t32 0 maximize z
subject to 2%, +3X, +5 =6
( 2 ) ( 3 - -6x +3x, -85 +1;=3
z+11x - 12x, +S; =-18
X, X5,9,,S5,1,,133 0
3
Y4 X1 X2 sl s3  |t2 t3
sl 0 2 3 1 0 0 0 6
12 0l -5 9 0 0 1 0 15
t3 0l -6 3 0] -1 0 1 3
Z 1 11 -12 0 1 0 0 -18
( ) Z x1 X2 sl S3 t2 t3
x1 0 1 0] 3/11 0l -1/11 0 3/11
s3 0 0 0-13/11 1] 8/11 -1 9/11
X2 0 0 1] 5/33 0| 2/33 0] 20/11
Z 1 0 0 0 0 1 1 0




maximize z= - 6x, +6X,

3 3
subject to X +— -1
j 1 T 11
)
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ix s =2
2333 11
X1, %5,8;,S53 0
x1,x2,s1
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() x 1 x
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maximize z
subject to Yy T
B9
11 11
+X2+£Sl :E
33 11
Z+6x, - 6X, =0
X, %,,8,83 0
maximize z
subject to X +E31 11
By, .9
11 11
+X2+£Sl 2
33 11
11 11



z x1 X2 sl s3
0 1 0] 3/11 0 3/11
0 0 0-13/11 1]  9/11
0 0 1] 5/33 0] 20/11
1 0 0] -8/11 0] 102/11
z x1 X2 sl s3
sl 0] 11/3 0 1 0 1
s3 0] 13/3 0 0 1 2
X2 0] -5/9 1 0 0 5/3
z 1 3 0 0 0 10
X1=0,x2=5/3 10
maximize z =X, +3X, +5X, minimize z=12x +6Xx, +10x,
subjectto - X, +X, + X, £2 subjectto X, +X, +2x,3 10 (1) x1=8,x2=1,x3=9
2% + %, - X, =8 3, + X, + %3 20 (2) x1=5,x2=5,x3=0
X, +2X%, - X, 31 X, X, %, 3 0
X;, %5, %5 2 0
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